i_tq\{

A =Y

/

Sy G

AInENETERABRAR
—E T HEAA




(2]
%% X

LYEL

j R %
TLHEm i TG R AT
Jiangsu Bicheng Construction Group Co., Ltd
BAHET 5.2 A232052433
THEEHETEANHTES LA
TR E KK TR 2%
THEREREER TEL LY
EH4R 5 £232032433
A TR T Rk AR
AR TRT I AMEYR
WS 5. Dis2aoisns
L BRTCRRO 5 216218
TEL-FAX :  (0513) 83355188

AR

£

AEFmEHBERE, FU—ALK

4000 1 500
000 _, 2000 | 2000 | 2000 | 31
| 1 | | | 89, 1 114
e L T %
ér__el : : g] B JE—
L] $114X4.5 S
RA RA RA RA RA RA RA O
(@]
(@]
= 4= = |_“I = % E
/.
L] L] Ly Ly 4
= S <
Cr—B—20R##yEE  1.30 B
[-18E .99
T S
B . A . A . Al ° FERACr—B—EpEImR BRI A
s AR S (%X) M|
Vel
it ¢ 114X4.5X2100 kg | 25.51
Cr—B—2FA##£LHE 1430 il 4320X310X85X3 | kg | 49.16
: £% S00X70X4.5 kg | 0.88
i 0122 kg | 0.30
£33 54 M16X150 kg | 0.355
8303 24 M16X40 kg | 0.09
W e M16X35 kg | 0.08
/| .ﬁgkﬁﬁu%*ﬁ_o wﬂg-& M1 6 kg 0.077
2 PRERFHBEETH-R. i M16 k9 | 0052
RRd 76X44X4 kg 0.093
£
fe | M4 HBIfE AhIEE &
1| —— —— 2000 A##

EI| RE | EF
HEAEN | kg E3
R | i 77 ok
VE | kg o
N g g E3
s | ROk
AR TN =N
ARER
R B
58 44
I =M R 225 10
AL
LI
me L
Gr-B-2B R 3P4 7 T A
Gr-B-2B 2 = F i
CRIOEE
BoA | 1100 | KA A
B H 202505 | B.E| o




(2]
%% X

8518

31048

832

IHE 1:5
| Heaa(P-2) I
[_>1oo 100 10-20x30 200 | 100 100 i%#%lt—ﬂ
<P ==, @ B N—20x30
2
= == & B w7
== - - ==
= = B B 40P~ 1)
10-24x30
& @ o o
0
160 , L>| B / L>|
4320 ,
|—|dEE  1:2 Il-ll#m|  1:2
55 551
g Ro4 ’ 3 R24
Z| 3
R10 R24 R10 R24
14 55 14
| i | { .
Ak 18 - Nk 18 -
— —
9% b 96 )
310 310
(1) HeEaa(P-1) HERa(P-2)
1: 2 1. 2 1
FERTUEX :
% Ak L3 #o(Kq) | ith 0 DBO2BATLEREH AR
50 ~Ej§;;NI <EE DBO2%& 310X85X3X4320] 49.16 | Q235 ’ o
0, 5 3 FARDERMEARERATN RAE,

LYEL

L R % PR

LA EE TERER AR

Jiangsu Bicheng Construction Group Co., Ltd
BAHET 5.2 A232052433
TREANB AN LR LA
THREBHKFKETET %
THEREFEEH TR LY
iEF4i 5 £232052433
B LR L SR LAY
AR TRETIRLEY
W4 5: D3sadossn

L BRTCRRO 5 216218

TEL-FAX :  (0513) 83355188

AR

£

AEFmEHBERE, FU—ALK

Ei| AE | &7
AN ks | thK
LT 77 ok
VE | kg Eaa
RN kg E3
s | ROk
REEEIE N
RREA

JE AT R REURF
58 44
UL =M R 246 T H
AL
LI
B

T

IRETE]

TI-TTETE
x| BB | KIE
BoA| 1125 | KX A
B H 202505 Bg| 02




(2]
%% X

LYEL

BE 1.2 ¥EAEE 1.5 | .} $a
LA B TER AR A
178 Jlangilll ilchjgg Conztructlon Group Co., Ltd
WIHEBS 44 4232052433
] 2, 51, 89 TRER AR TEL) 20
— 3 1 1 TREE AR TR L L
=4 N 1l TREBERES LAY
i 5 iy e
W TN N Gk
5 — HOLIER L LR 2t
49 ~— ﬁ&%& U345 Dasoaoasae
¢ L Wibk: B RTRMO S #2167218
TEL-FAX :  (0513) 83355188

AR

90

£

160

R15,

v ] g L

KHR

B %

ARG HEEE BH—ATK
EE | E7

% & tth

b ]
=

b
I
=
b
>

=
g

pee | 7 ok
thoh

% &

NO
NO
><
o
(@)
I
i
S
il

pr
>

k& Ed
s | ROk

g3

=
=
S

g

a
M

IN
M
=,

35, 35
70

;%Ig:!
lzt!za;

R N

JAAR A N RBURS

&
=

90 200 90

|

|

| 300
5H 4%

TR =AM 23 H

TR

o =] EAM AR ER : S UEE A

~T___100 . 100 700 1 ABRHE MMt e
00 | 4% | A% | th(kg) | (ko) 2 WRAR3 MmN, 2R R -

9 0.54 B AL AR AR, .

£ % 14 w | 50 o | P 3 ANERREER R ERRAE. WML

-
=

% | BB | AIH

1100 | KA A

2025.05 03

L
Pt =
EE




(2]
%% X

120

~%-
— RRLE
&
BN T
B 66 ‘9 12 9‘ 66 33 33
_ Pl
O
— 75 T o
R E 1:9 3 3
=9
RE ik 4 ©
O
R
15 =
R B ETTE 10
HER &S
S
. KORHE bR =
W
1 AERTHUEK
% B 2 ABEATRERFRERYMERRBINLE.
H i 3 MERRMIA AN AR, KRR RATE AR
o) § S 4 BEREETRPRUMNE  FRAE R TRESER,
& 5 REARBFELBAREEASK BABES i,
0. EXBANERT , SRAEE.
£100/M Bitat %
2 % s y o |ek(kg) | 42
1 & 1.5mmiti | 2.51nf| 29.56 | Anesk
2 | BHRHEEE) S (2 T 200% ot EOLHE

LYEL

j R %
TLHEm i TG R AT
Jiangsu Bicheng Construction Group Co., Ltd
BAHET 5.2 A232052433
TREANB AN LR LA
TR E KK TR 2%
THEREFEEH TR LY

iEF4i 5 £232052433

A TR T Rk AR

AR TRT I AMEYR

WS 5. Dis2aoisns
L BRTCRRO 5 216218
TEL-FAX :  (0513) 83355188

AR

£

AEFmEHBERE, FU—ALK

X[ BE | £F
HEAEA| 4 & 4k
¥E | pRé 77 ok
I EJEY thdh
I g g ok
s | ROk
EEEY I N
AR
F AR KB
K8 4%
R =AM 2250 B
ThEH
AEEY | 355%|
E#K 45K
T B U
REETE
ST
F100MEER bR RLR
TV dx [ B B[ KIE
BA | 1100 | KA A
B M |202505 | B.g| o4




(2]
%% X

LYEL

Tal 1:8 |'L!=J'
T gndll-3 1:1

\(zi Ty 23
VL T4 N
— i’,%‘ é 24 N 10 N 130 N 40 , Jiangsuj%i?m}%%lstr%%ﬁfﬁ%\o.’,j_JLtd
1 * - ! i ! ! BHE PS4 4232052433

TRERHTEAN LRSI,
TR KR TET L 2%
TREHREEEH TR K
EH4R 5 £232032433

B LR LA LAY

i L/
’// SILIERS T Sl A L A
UEA40 52 0332424822
- -FAX : 5
4-18x24 TR

N
N
M16—6g

454 87.5 |45

31059

130 60 .  2000:2 SRJll-5 1.1 $EJI-6 1:1 43
— 50" ) e
1 1 Em;xq ];Efi]
L . / \ T ] BEEE
: N7 1T\
4-18x04 - __ L
A4=18x2 L
P

16 27

k

,{%}' K ¥
e ABFSENEEE FA—RAK
< RE | K% 17
\ IR R A k| T
TE | o | b
K 4 % 5% 31(Kq) # B EIETHE?
LI g 5 Ed
58113 M16x170 | 0.316 Q2354 | 3504 |
130 60,  200:2 #4J1-5 M16 0.056 Q2354 AEETEE "R
450 816 8 16x4 0.024 Q2354 AEHE
/i’ /||’ BRI RN REUF
#: 5B 4%
D— |3k 1 ERER S B mmit; = AR R S
2 Bk HWREH R 3mm; T 4%
NI ER A Sk 3 W AR BT 1:20 T BT
: 3 RABEAE AR AER | 28%
3 EBER|| - IRREERE HTHTH I B3 T b R TP
RESHEAL, LEHEH350q/m? HRIER
Y dm | %8| KIN
BoA | 1100 | KA A
B W 202505 | BLE| 05




(2]
%% X

LYEL

L BN
B TR A
Jiangsu Bicheng Construction Group Co., Ltd
WIHE5 4 232052433

TREANB AN LR LA
0y IJIJﬁ. 75 /I‘)/TL :EE‘ )
gEgnll-1-1 1:1 ES: 5232052433
B LR L RAEAY
AR TRT I AMEYR
P4 1332424822

8 34 19
# ”bs d b Otk R TR 9 2 k2167218
g N TEL-FAX :  (0513) 83355188
EFTFE

%
(D
N

4
ay 28 ¥
L HHRER RS
4 & A% £5(Kq) to# HEEE
#aael-1-1 | M16x34 0.085 45%4 -
HEEE|—2 M16 0.056 45%4
#8)|-3 0.024 4554

AEFmEHBERE, FU—ALK

M16-6H

£8)-2 1:1 #RJ-5 1.1 TE | B | A7
BEARA w8 | THA
. X | x| A
- N E ke | thA
1 ) T
o K \ R | e 15
N7 N I NN o
- AL
T _—_ L \ BRI HmMAR: BRI AR
. 2. BERRJI-1— AT RRRKES, Kok
— PR L — o 3. SR 1 - REALEH, SRR e LN e
HHBERE, FEHER3509/m’ ; gz 7
4. FRERAEREEBRARNARTR TR, 4T EH
WRHRARRE R AR %, Lo
PRIk 1-1-1
5. BEERREBEAIARE, MABRLEHERS SSHRE. RE2
HETT-3
MREER
| BB | KIE
A 1100 | KX A
B H 202505 | E.E| o6




(2]
%% X

M16—6H

HggEnlll—-2-1
L8, 45 ,
43
d ¥ 37 ¥
g#JI-5 1:1
By
U5
10 4 p 27
#REAI-7 11
£ {
—_
i. ARy
U

16

()

#@JI-6 1:1

11
o
S
AN — Z
Z
) [ s
Z
Z
L Z
i

* K+

44

7
N

LYEL

[ R % A
T b T 4 IR A

Jlangsu Bicheng Construction Group Co., Ltd
BAHET 5.2 A232052433
TREANB AN LR LA
TAEI KR K TR Tk 2.2,

THEREREER TEL LY
iEF4i 5 £232052433
A TR T Rk AR
AR TRT I AMEYR
WS 5. Dis2aoisns
L BRTCRRO 5 216218
TEL-FAX :  (0513) 83355188

AR

AEFmEHBERE, FU—ALK

HHEER
4 & 5B $8(Kq) oA
spupl-2-1 | M16x45 0.088 02354
£4l|-5 M16 0.056 02354
Rl -6 9 16x4 0.024 02354
sorehl-7 76x44x4 | 0.093 02354

#;

1. ERRERTHUmmMpRA;

2. 5882 1RAT QR ERAHYR

ik

3. #BHRI-0— | RRASRH, HEAFH
FREBEAE, HUSEA350g/m

BI[ EF [ E?
TESEN ) kg | TRE
¥ | oxe 77 ok
VE ke | thh
I ks | A
s | ROk
® & M 5%6L
AR

R A RBURF
A

T =AM AP R 36 T
TR
O L EE A
BEER om0

BRBHITI-S

B IT1-6

PREREL b TTT-T

MEHER
v | B B[ KIH
kA 1100 | RE| A
B H 202505 | Bg| o7




	波形护栏2025.05.2301
	波形护栏2025.05.2302
	波形护栏2025.05.2303
	波形护栏2025.05.2304
	波形护栏2025.05.2305
	波形护栏2025.05.2306
	波形护栏2025.05.2307
	波形护栏2025.05.2308

